	A) Model
	T-statisc
	p-value
	AIC

	H + B * Dn + R + T + S + Sps + B
	18.24
	0.003
	2321.908

	H * T + R + S + Sps + B + Dn
	18.83
	0.001
	2333.707

	H * R + T + S + Sps + B + Dn
	18.43
	0.002
	2355.120

	H * S + R + T + Sps + B + Dn
	18.33
	0.002
	2375.955

	H * B + R + T + S + Sps + Dn
	17.99
	0.002
	2397.705

	H * Dn + R + T + S + Sps + B
	17.86
	0.003
	2397.810

	H * Sps + R + T + S + B + Dn
	19.44
	0.001
	2400.829







	B) Model
	T-statisc
	p-value
	AIC

	Dt
	3.979
	0.007
	744.371

	H + Dt
	6.359
	0.002
	754.330

	H + Dt + B + Dn + Sps
	7.292
	0.178
	774.935
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